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Demaonstrate an understanding that the work performed in moving a charged particle in an electric
field can result in the particle gaining electric potential energy or kinetic energy or both

Student text book
Q.(26,27 28,29.30)
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Describe the charge distribution on a solid conducting sphere, a hollow conducting sphere
and an irregular conducting surface

Student text book
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|dentify the direction of conventional current as the direction of motion of positive charges or
opposite to the flow of electrons

Student text book
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Draw schematic circuit diagrams with different components along with ammeters and voltmeters
correctly connected to measure current and voltage

Student text book
Applications (8,9,10,11)

Q.(48)

58-59
59
72




PbgS tlaas e e 050 A was SbgS s .3

odgr 55 T cbngS puide abile ee Juals p=LV
gt Sl rhadl bs=d Jaas 5o Lo .sa 125V = 050 X\LG
1100% o Belatl) s il g I — £2.5 L ars
38 3Ll o fids (gob e e i) LA 4
e 12V L dances &) cols 131210 A C- P
5ok ) alazigd) a5l ,gS) a3lall Gls pSh . o)) -
$10.0 § 300 JMs Jeidsll -TY.r
— 7\phiL ¥ io

Ol (ol erees




Draw schematic circuit diagrams with different components along with ammeters and voltmeters

cnrrertlE connected to measure current and vult_aEe

Student text book
Applications (8,9,10,11)
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Explain the factors (like length, cross-sectional area, temperature and material of the conductor)
that aftect the resistance of a conductor

Student text book
Q{47)

60-61
12




Explain the factors (like length, cross-sectional area, temperature and material of the conductor)
that affect the resistance of a conductor
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Differentiate between series and parallel connections
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